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Question Number : 1 Question Id : 819657367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following file extensions indicates only graphic files?

Options:
1 % BMP and DOC

> % TXTand STK
= % JPEG and TXT

4 « BMP and GIF

Question Number : 1 Question Id : 819657367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » BMP 3iit DOC
. % TXT 3T STK
- » JPEG 3T TXT

. v BMP 3T GIF

Question Number : 2 Question Id : 819657368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a feature of Microsoft Word that automatically adjusts the amount of space between certain combinations of
characters so that an entire word looks more evenly spaced.
Options:
| % Spacing

- % Scaling

5  Kerning

4 » Positioning

Question Number : 2 Question Id : 819657368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 819657369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identify the INCORRECT statement in reference to Microsoft Word?

Options:
1%

Headers are the ones that are printed on the top margin of the page and footers are printed in the bottom margin.

- u Headers and footers normally carry information like page numbers, date, company name, etc.
- » A single page document will not normally have the header of footer.

4  Microsoft Word will not allow you to print header and footer on a single page document.
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Correct: 1 Wrong: 0

Microsoft Word & T H Faoi@a #§ ¥ od &y F7 9g91d F1|

Options:
1. %

€Y o (@27) T°& & MY A w1 3 912 o (F) T Afew W Fgiea (Biee) a@ar 2

2 ®

fiY o 3R IIg o @ H HHAR W T56 TET, AR, HIa! F A7 SIS AT gl gl

TSl I3 SEAES (SFgHE) H IHAR W A 7w 3R g 7w 7@ g

=z ®

4.

Microsoft Word 3T9eh! Tehel Y56 g¥arast H ofi¥ o 3T uig o &1 Hied e & glaar 7t &om



Question Number : 4 Question Id : 819657370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statement is INCORRECT in Microsoft Excel working under the Microsoft Windows
environment?

Options:
1. %

You can create a link between two files by using the linking formula in one that refers to a cell in another file.

- % The file in which you enter the formula is the target file because it receives the data.
- % The file to which the formula refers to the source file because it supplies the data.

4 « Itis absolutely necessary for the source file to be open for this retrieval.
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Question Number : 5 Question Id : 819657371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a communication device?

Options:
1 % Printer

> % Monitor
% Keyboard

>

4 « Modem



Question Number : 5 Question Id : 819657371 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 819657372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does a laser printer uses?

Options:
L A photosensitive drum

> % A camera lens
- » Heat sensitive paper

4 % A cathode ray tube (CRT)

Question Number : 6 Question Id : 819657372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 819657373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which keyboard shortcut is used to select text in the address bar of Internet Explorer?

Options:

1 % Cul+E
> o Alt+D
z ® Alt+C
4 ® At+E

Question Number : 7 Question Id : 819657373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % Ctl + E
> v Alt + D
s % Alt + C

L% Alt + E

Question Number : 8 Question Id : 819657374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When you create a chart on a separate sheet in the same workbook of Microsoft Excel, it is called:

Options:
1 « a chart sheet

> % an embedded chart
= % aview sheet

4 % aview chart

Question Number : 8 Question Id : 819657374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 819657375 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is the CPU and memory located?

Options:
, = Expansion board

> « Motherboard

- » Storage device

4 % Output device

Question Number : 9 Question Id : 819657375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 10 Question Id : 819657376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

System software includes all of the following except
Options:

| w Operating systems

> % device drivers



s % DOS

4 « desktop publishing

Question Number : 10 Question Id : 819657376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 819657377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the first computer fabricated and designed in India?

Options:
1 % Param

> « Siddhartha
= % Gautam

4 % Aryabhatta

Question Number : 11 Question Id : 819657377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, » TH (Param)

, » @&y (Siddhartha)

. Tiad (Gautam)
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, %« TUSTE (Aryabhatta)

Question Number : 12 Question Id : 819657378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who invented JAVA?
Options:

| « SunMicrosystem

> % Microsoft

s % IBM

4 % Apple

Question Number : 12 Question Id : 819657378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
|« Sun Microsystem

- # Microsoft

- % IBM

4 % Apple

Question Number : 13 Question Id : 819657379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is motion path in PowerPoint?

Options:

. w atype of animation entrance effect

- % amethod of advancing slides

-  amethod of moving items on a slide

, % adding animated images to the slide



Question Number : 13 Question Id : 819657379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 14 Question Id : 819657380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

LCD stands for:
Options:

, w lead crystal device

- % light central display
2 # liquid central display

4  liquid crystal display

Question Number : 14 Question Id : 819657380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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, » Light Central Display (s8¢ #ger BFee)
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Question Number : 15 Question Id : 819657381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
What term is used to describe using the mouse to move an item on the screen to a new location?

Options:
1 # Click

> % Double-click

-  Dragand drop

4 % Point

Question Number : 15 Question Id : 819657381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 819657382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The process of a computer receiving information from a server on the internet is known as-
Options:

, % Pulling

-~ u Pasting

5  Downloading

4 % [Iransforming

Question Number : 16 Question Id : 819657382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 17 Question Id : 819657383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Commands at the top of a sereen such as FILE-EDIT-FONT-TOOLS to operate and change things within a particular
programs are present under the

Options:
1 « Menu bar

> % Tool bar
- % User friendly

4 % Word processor

Question Number : 17 Question Id : 819657383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 18 Question Id : 819657384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the main folder on a storage device called?

Options:



,  Root directory

> % Interface
z % Device driver

4 % Platform

Question Number : 18 Question Id : 819657384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 819657385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Word text can be made Italic by:

Options:

1 & Ctrl+1I
> % Cirl+B
z & Ctrl+U
4 ® Alt+1

Question Number : 19 Question Id : 819657385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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, % Ctrl + B
2% Ctl + U

4 % Alt + |

Question Number : 20 Question Id : 819657386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following charts is NOT likely to be included in an analysis of presentation graphics package?

Options:
1 % Bar

- # Pie
5  lemperature

4 % Line

Question Number : 20 Question Id : 819657386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 819657387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which shortcut key is used to create a copyright symbol?

Options:
1 & Alt+Ctl +C
> R Alt+C

z % Cul+C



4 % Chl+8hift +C

Question Number : 21 Question Id : 819657387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L ¢ Alt + Ctrl + C

, % Alt + C
2% Ctl + C

. # Ctrl + Shift + C

Question Number : 22 Question Id : 819657388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

IP addresses are converted to:
Options:

. w A Dbinary string

> # Alphanumeric string
A hierarchy of domain names

4 % Ahexadecimal string

Question Number : 22 Question Id : 819657388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 819657389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
This shortcut key is used to cancel an enftry in the cell or formula bar.

Options:
1 % Tab

> o ESC
= % Home

4 ® Crl+W

Question Number : 23 Question Id : 819657389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® Tab
> « ESsc
z % Home

L% Cirl + W

Question Number : 24 Question Id : 819657390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When a formatted number does NOT f{it within a cell, it displays:

Options:

5> % #DIV/0

4 % 'ERROR

Question Number : 24 Question Id : 819657390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options:



| v B
. = #DIV/O

. x HDIV@

. % 'ERROR

Question Number : 25 Question Id : 819657391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is the full-form of the term *blog’.

Options:
1 % Wikis

-  Web log

5 % ISP

4 % Modem

Question Number : 25 Question Id : 819657391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 26 Question Id : 819657392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What are .bas, .doc. and .htm?
Options:

1 + Extensions



> % Domains
=z % Protocols

4 % Databases

Question Number : 26 Question Id : 819657392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 819657393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a procedure that requires users to enter an identification code and a matching password.

Options:

, » Paging

5 of Logging on
5 % lime-sharing

4 # Multitasking

Question Number : 27 Question Id : 819657393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 819657394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT the type of Blu-ray Disk (BD)?

Options:
. % BD-ROM

> % BD-R
- # BD-RE

4 v BD-RM

Question Number : 28 Question Id : 819657394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, » BD-ROM
., « BD-R
- » BD-RE

. v BD-RM

Question Number : 29 Question Id : 819657395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A/(an) is the first program that is loaded into the computer's main memory, when a computer is switched on.

Options:
1 ® Microsoft Office
o  Operating System

=z % Linker

4 % Assembler



Question Number : 29 Question Id : 819657395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 819657396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Some dialog boxes have multiple option pages. You can flip through the option pages by pressing keys
together.
Options:
1 &% Ctrl+0O
> « Cirl + Tab
z % Alt+Tab
4 B Alt+=N

Question Number : 30 Question Id : 819657396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

L % Ctrl + O

> « Ctrl + Tab
=z = Alt + Tab

L % Alt + N



Question Number : 31 Question Id : 819657397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which key combination can be used to increase left indent in Microsoft Word?

Options:

1 % Ctul+I

> ® Cirl+N
3 o Clrl+ M
4 ® Alt+1

Question Number : 31 Question Id : 819657397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
L% Ctrl + |

. % Ctrl + N
2w Ctl + M

4% Alt + |

Question Number : 32 Question Id : 819657398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following coordinates various operations using timing signals?

Options:
1 « Control unit

-~ % Memory unit
= # I/O unit

4 ® ALU

Question Number : 32 Question Id : 819657398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 819657399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
means changes need to be done only by authorised users.

Options:

| ® Confidentiality

> # Authentication

-  Integrity

, w Availability

Question Number : 33 Question Id : 819657399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Question Number : 34 Question Id : 819657400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

is a private network that is contained within an enterprise.
Options:
1 ® Internet



> % WAN
= « Intranet

4 % Ethernet

Question Number : 34 Question Id : 819657400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 819657401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A search engine normally becomes popular through the number of by the users.

Options:

; » blog

5 % IMiss

5 « hits

&,

4 % links

Question Number : 35 Question Id : 819657401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TS (T) 55 HHAST I STDTRATHT ZaRT T TETT ¥ ST B 2

Options:
1. ® 2 IE]

o x W



. v TBSH

4_&%@

Question Number : 36 Question Id : 819657402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

tab allows a user to configure properties that are related to the quality of the print job.
Options:
, w Print/quality

- % Draft/quality

5 » Line/quality

4  Paper/quality

Question Number : 36 Question Id : 819657402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
¢F 3ULRTHRAT T HZUT H1Y HT F0Ear § Farad OIS H THGET gl 1 glaer
YeId T 2l
Options:
, = Print/quality

- » Draft/quality

- % Line/quality

4  Paper/quality

Question Number : 37 Question Id : 819657403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the common name of ‘Google Apps for Work’?

Options:
1 ® Work Suite

> # Live Suite

% « G Suite



4 » GoogleLine

Question Number : 37 Question Id : 819657403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Google Apps for Work' =T TTHET #ATH F4T g7
Options:

.« Work Suite (% gge)
Live Suite (g9 H3<)

i G Suite (ST g3e)

4% Google Line (F@TeT =M$)

Question Number : 38 Question Id : 819657404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MBR validation check information is stored in the

Options:
, % last1byte

o  last2 bytes

5 # last3 bytes

4 % last4 bytes

Question Number : 38 Question Id : 819657404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

MBR cdTdel S H Tl H gagig gdr gl
Options:

, » HAfaF 1 =8¢

, » HfaH 2 a3

. « Hfa# 3 @S



, « ¥aH 4 @8

Question Number : 39 Question Id : 819657405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which file format is used to save a Microsoft Windows XP Media Center recorded television file?
Options:

1 % dastr

> u dyst
3 o dvr

4 % Vrstr

Question Number : 39 Question Id : 819657405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Microsoft Windows XP Media Center ZaRT Reris &7 &elifaaa wsa & 5914 & T #i9 ¥ wEa
FiHT F I9TET BT Sar 27

Options:
1 % dastr

> % dyst
2 o dvr

4 % vrstr

Question Number : 40 Question Id : 819657406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In barcode the coding of bar is known as:

Options:
1 % number of lines

-~ u height of bar

= « Width of bar

4 % identification of bar



Question Number : 40 Question Id : 819657406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
GRS H 9ET (S)) Fr FIfEIT FT FAT Fgl FTam 272

Options:

S.Jq?rﬁﬁﬁé

. w TET I IgE

Question Number : 41 Question Id : 819657407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A Blu -Ray uses a blue laser of nm.

Options:
1 % 300

5 % 400
3 « 405

4 % 310

Question Number : 41 Question Id : 819657407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Blu -Ray nm HT Al ST FT FA=T FLGT

Options:

% 300

, = 400
5 « 405

4 % 310

Question Number : 42 Question Id : 819657408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the term Mbps stand for?



Options:
, « Megabits per second

> % Megabits per sector

- = Megabits per storage

4 % Microbits per second

Question Number : 42 Question Id : 819657408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Mbps 21eg T o7 & FT g2

Options:

, » Megabits per second (FfeeH UT ¥F3)

. Megabits per sector (FfecH 9T FF)

P

. Megabits per storage (F¥mfeey 9T =RS)

S

, = Microbits per second (ATSHIfdEH 9T TeF3)

Question Number : 43 Question Id : 819657409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The activity of processing data using a computer is called .
Options:

, « data processing

> % data collection
% % data flow

4 » dataspeed

Question Number : 43 Question Id : 819657409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
YR H FAUNT A T 3T & THERUT H AT F21 FHgelrel 27

Options:




| » ST FHEHTT (Srafde)

. % SCI HIALUT (Felerar=)
. % ST JATE ()

, » SeT 7 (FE)

Question Number : 44 Question Id : 819657410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
programs are used to gather information about internet interaction, keystrokes and other valuable data.

Options:
|« Spyware

- % Chat
= % DBloatware

4 % Scanner

Question Number : 44 Question Id : 819657410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ST & FART $edee R, Fo O AR e AUl 3¢ & s H FEAC
TS H F Torw Fmar s g

Options:

| v T
o % HT

5 % SOllCAI
4 % TRR

Question Number : 45 Question Id : 819657411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which program is used for notification when friends are online?
Options:

| « Instant messaging



> % POP
5 % System

4 % Data

Question Number : 45 Question Id : 819657411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
79 &7 Haemsa & ar sEe HgEar & e B Semm # owaer FFar aar 87

Options:

| o Sate T (e dev)
o % 9
g_aﬁlm

4 % 3T

Question Number : 46 Question Id : 819657412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a relational database?

Options:
| % Fox pro

Dbase IV

ra
®

%z % Oracle

4 « Reflex

Question Number : 46 Question Id : 819657412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

=T § ¥ #i9 v oea 2oeg FJ57 87

Options:
, = Fox pro

- #% Dbase [V



z % Oracle

4 « Reflex

Question Number : 47 Question Id : 819657413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

CARD stand for

Options:

| « Computer Aided Administration of Registration Department

> u CAD Authority Registration Department
- % CAD Administrative Reforms Department

, % Computerization Administration of Reforms Department

Question Number : 47 Question Id : 819657413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
CARD & 0T & &7 g7

Options:
1,

Computer Aided Administration of Registration Department (FvgzX 23 vsfafaree=
3TE o fBuede)
CAD Authority Registration Department (Fg 312 e fadae)

A

. » CAD Administrative Reforms Department (¥z wsfafariea freiry Buriae)

4 W
Computerization Administration of Reforms Department {#@F@ﬁﬂm (YA E Rt

Question Number : 48 Question Id : 819657414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A column chart presents values in 2-D vertical rectangles in Microsoft Excel.
Options:

1 « clustered



- # stock
= % bubble

4 % surface

Question Number : 48 Question Id : 819657414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TH FFH TAC Microsoft Excel ® 2-D Fead NTUI&RT & A TEIT Al gl

Options:

1_.,;%12‘5‘»’

Question Number : 49 Question Id : 819657415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
charts are useful for showing continuous data over time in Microsoft Excel.

Options:
1 % Radar

> o Line

Surface

L
®

4 % Area

Question Number : 49 Question Id : 819657415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Microsoft Excel # THT & TY Tdd 37 d@= & T TS 3TIET B
Options:
g w I8

E.JW

5 % TTRT



4_56m

Question Number : 50 Question Id : 819657416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To get tread line in your chart, Excel uses analysis method to fit your existing data points to a statistical line.

Options:
1 % trend

-  regression
5 % market

, w nearest neighbour

Question Number : 50 Question Id : 819657416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A H ¢T3 W TG, Excel 3% 39y 3aT gt 1 v wifeah W@ W o= & fow
fareemoT 3Ty &1 waeT Far g

Options:

| % qq%r [a?)
o » FaeHEe ()

5 » TR (ATRT)
, » e = (R am)

Question Number : 51 Question Id : 819657417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A is a software program designed to parse through large amounts of data to extract specific information.

Options:
1 « harvester bot
> % anfivirus

5 % firewall

4 ® virus



Question Number : 51 Question Id : 819657417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T FiFeadT STH ¢ o 227 & 99 A F ¥ Bfire swed T+ B B
o @mar 3
Options:

| v EEEX ST

Question Number : 52 Question Id : 819657418 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is a term used to describe the process of identifying a person and making sure they are who they
say they are.
Options:
| % Monitoring

> « Authentication
5 u Phishing

4 % Sniffing

Question Number : 52 Question Id : 819657418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
IE & FART shfed HT TgA ShhAT # AU & & o 3R a7 gitad &% & e
oo F R FrmM AN TR E TFaa A I T § 1 740

Options:

. ANASIET (Farea)

1.

o FHATOTERTOT
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Read the following passage and answer the questions that
follow:

Mrinalini Sarabhai to her grandchildren Revanta and Anahita

Dearest Revanta and Anahita.

You have both had the wonderful feeling of being loved.
cherished and cared for. As you grow older you will begin to
realise that the world is made up of different people and
emotions. not always the gentleness you have encountered in
your childhood.

Already at school. you are learning that violence. greed. jealousy
are part of life. These are the enemies that you have to overcome
as you grow older. So. every day. begin with a prayer. The one I
like to say is. “May the Supreme Being protect us.

Let us work together and play together and above all let us never
bear hatred towards anyone.

And when you step out of bed don’t forget to remember Mother
Earth who nourishes all of us.

When you bathe. think of the blessing of water which comes to
you from the mountains. through deep gorges and mighty rivers.
No one can live without water, so be careful with it and do not
waste even a drop. Can you imagine even a day without a drop
of water to drink? And promise yourself to help clean the waters
of our country. so that all people can have clean water.

Think of a country without rain. Which brings us to trees which
attract the rain. Never cut down a tree carelessly. Trees make us
think of flowers and our joy at the beautiful colours from the
humble jasud to the elegant rose. What would we do without the
colour of flowers and the green of the trees?

And the thought of trees and flowers bring us to birds and
animals.

As you get ready to go to school. you have a breakfast of bread
and butter. As you eat the bread think of where it came from. Of
the farmer who tilled the soil and planted the wheat, of the
sunlight that shone upon the ripening grain. of the task of
gathering the sheaves to make it into the loaf you eat.

All our old stories tell us of protecting the environment and how
we need to look after the earth. That is why we call her ‘Mother.’
So be a blessing to the world and bring joy to as many as you
can.

With my love.

Amma
Sub questions

Question Number : 53 Question Id : 819657420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘What is the grandmother’s message to the children?

Options:



1 % Save water
> # Protect animals
% « Protect the environment

« Play with everyone

Question Number : 54 Question Id : 819657421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How is life different today?
Options:

, « People are more violent and greedy

» » Everyone is gentle and helpful

- u Some people care for their children

, » Everyone has someone to protect them

Question Number : 55 Question Id : 819657422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What does the rain remind the writer of?
Options:

1 # Flowers

- % Water
= % Mountains

4 o Trees

Question Number : 56 Question Id : 819657423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What should their breakfast remind the children of?
Options:

, % How wheat is ripened

-~ » How sunlight gives warmth



5  How the farmer grows it

4 % How the rain waters the fields

Question Number : 57 Question Id : 819657424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What promise should the children make?

Options:
1 % Not to waste food

s % Never to cut down a tree

- % Help the farmer in his work and appreciate it

4 Help to keep the waters of our country clean

Question Id : 819657419 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension
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Sub questions

Question Number : 53 Question Id : 819657420 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
g==T T SIEr T HE FAT &7

Options:

| % ST §=MT

- % AT BT T
5 TAERUT §EIC

4 % Ucdeh o TTYT Tel

Question Number : 54 Question Id : 819657421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T Fad FF IR § 3T 872
Options:

| o T s fwe s e ¥

, % BX % WE 3R wErTE B

FT T HI Fedl B WA Fd g

=]

, « & TR F U 3T T A & r eg g

Question Number : 55 Question Id : 819657422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

I, E@F F fFghr I T 87

Options:

1 ® 3
o> ® OTeAT
3 ® TEIs

sv 93



Question Number : 56 Question Id : 819657423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g==l & A2 B, 3d%! FF == &7 g Easr
HET?

Options:

e ?’Iga-a‘é' TeRTIT ST B

T Fr e Tt S e

o R

. v O T8 FE YT Far €

, x T, War F HEER HE AT

Question Number : 57 Question Id : 819657424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

F=ET I FAT TET FIAT TMET?

Options:

| % T FEE T FA

. x 93 P F AL FEAT

o & 3% FIE H J52 ¢ AT 3T
. » FUEAT F

L v FISA U F TR F TG WA H A F

CUANTITATIVE APTITULE
Section Id : 81965785
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1



Sub-Section 1d: 81965785
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 819657425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The circumferences of two circles are 132 m and 176 m respectively. What is the difference between the area of the
larger circle and that of the smaller circle?

Options:
, % 1,048m’

> % 1,076 m?

2 » 1078 m?

4 % 1,090 m?

Question Number : 58 Question Id : 819657425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
ar gear # IR FA 132 m AR 176 m 1 95 Io7 3R BIE Ied F STFal HT HaW FAT grom?
Options:

. x 1,048 m2
, x 1,076 m?
. v 1,078 m?

, % 1,090 m?

Question Number : 59 Question Id : 819657426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What should come in place of the question mark (?) in the following question?

(833.25-384.45)+24="7

Options:
1 ® 1.87

5 % 201



Question Number : 59 Question Id : 819657426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Trafaf@a weaT # weafEes (?) & T W FT 30?

(833.25 - 384.45) + 24 = ?
Options:

| % 1.87

> % 20.1

2 % 2.01

L v 18.7

Question Number : 60 Question Id : 819657427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What approximate value should come in place of the question mark (?) in the following question?

1125

2o i

5 1228
Options:
1 ® 7

Question Number : 60 Question Id : 819657427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Fr=afaf@a ma F Teafes (?) & TIF 9T A1 ST S9TET AT #2497 2R

31325

Y e =1
SK‘IEEB}{? )
Options:

1_%-3?

- ® -12



3%-39

4 v 4

Question Number : 61 Question Id : 819657428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What approximate value should come in place of the question mark (?) in the following question?

(You are not expected to calculate the exact value.)

/8938 X (5.96)2 =2

Options:
i % 3050

5 % 3780
s % 2340

4 « 3400

Question Number : 61 Question Id : 819657428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Tr=af@T Tem F weafEs (?) & T 9T 3T ST S9N AT #4729 (HEE AT T A0 FA
T 3FITFAT FTET )

1/8938 x (5.96)2 =7
Options:

. % 3050
, = 3780
2 ® 2340

.« 3400

Question Number : 62 Question Id : 819657429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An article is listed at < 120. Originally a discount of 15% was allowed. Later on the wholesaler gave a second discount
of x %, thus bringing the net selling price down to I 81.60. the value of x is:

Options:

1 ® &



Question Number : 62 Question Id : 819657429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fordlr awg v T 120 AfFa B 50 9 gE F 16% H T & 7% off| g F ot A & x % F; g
AT g & Sy o= B 7o g T T 81.60 g 41| ¥ FH AW FAT §?

Options:

. % 8
- ® g
o ® -12

4 v 20

Question Number : 63 Question Id : 819657430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A TV is available for ¥ 11,716 cash or for T 3,600 cash down payment and three equal yearly instalments. If the interest
charged is 8% per annum compounded annually. then the value of each instalment, nearest to a rupee, is:

Options:
, & $2,931

2 o T3,149

4 % T3251

Question Number : 63 Question Id : 819657430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

ve Y e AT WX T 11,716 YA 9g 7€ A T 3,600 3R e g aifdes faedt A
3oy | TG =T X 8% Fiw a¥ § o a1f¥e s3mm = wwafes T s € & v e
A (ereas i) ¥4 grem?

Options:

| % T2,931



5w TBID4T

5w 3149
i % T3.251
GEMERAL MEMNTAL ABILITY AMND EEASONIMNG
Section Id : 81965786
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 81965786
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 819657431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Study the following arrangement carefully and answer the question given below:
RESDAPS3TIQ79B#2K%UIMW4*J8N

How many such numbers are there in the above arrangement, each of which is immediately preceded by a consonant
and NOT immediately followed by a consonant?

Options:

> % One
=z o TWo

4 % Three

Question Number : 64 Question Id : 819657431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

frafaf@a coaeen & S=Es 98 AR 58 A" QT 73 927 & 3w &
RESDAPS3TIQ79B#2K%U1ITMWA4+«J8N



Options:

 w T

z_ﬁw
S.J-ﬂ'

4 % o

Question Number : 65 Question Id : 819657432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Study the following arrangement carefully and answer the question given below:
BCM@NELET2ZY6850aQS7*WZ3UE%AA4

What should come in place of the question mark in the following series based on the above arrangement?

CMA MERE NS ?
Options:

| % SQW

> o S0OW
= % 560

4 % S0Z
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Study the following arrangement of letters. digits and symbols to answer the question given below:
T9BQ=825RIJOL3I@YMEG68*-DF4pHTC

Total number of pairs of adjacent symbol and letter (X). total number of pairs of adjacent letter and number (Y) and
total number of pairs of adjacent number and symbol (Z) in the above arrangement are written in the descending order.
Which of the following will indicate the same?

Options:
L% XY.Z

, & T
3 % NX.Z

4  Allthe three are equal in number
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Given below are two words which have a certain relationship to each other followed by four pairs of related words in
the options. Select the pair from the options which has the same relationship.

Hillock : Mountain
Options:



, % Dog: Bitch

-  Sapling : Tree
- % Ant:Elephant

4 8 Day : Year
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Given below are two words which have a certain relationship to each other followed by four pairs of related words in
the options. Select the pair from the options which has the same relationship.

Febrile : Illness
Options:
, « Delusional : Insanity

- % Eccentric : Discrimination
- % Tenacious : Astonishment

4 » Juvenile : Maturity
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Given below are two words which have a certain relationship to each other followed by four pairs of related words in
the options. Select the pair from the options which has the same relationship.

Pusillanimous : Dastard
Options:
, = Optimistic : Pessimist

> % Magnanimous : Misanthrope
5 » Plebeian : Entrepreneur

4  Impecunious : Mendicant
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Which of the following countries is/are member/members of ASEAN?
1. Brunei Darussalam
2. East Timor
3. Laos

Options:

; % lonly

> % 2and3 only

-  land3 only

4 % 1.2and3
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Match List- [ (Author) with List-II (Concept) and select the correct answer using the code given below the lists:

List-T List-IT
A. Davis 1. Pediplanation
B. Hack 2. Peneplanation
C. Hutton 3. Dynamic Equilibrium
D. King L..C. 4. Uniformitarianism
Code:
Options:

| % A-1.B-4,C-3,D-2
. % A-1,B-3,C-4.D-2
5 % A-2,B-4,C-3.D-1

. v A-2.B-3,C-4,D-1
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o % A, B3, C4,D2
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Dr. M. S. Swaminathan has distinguished himself in which of the following fields?

Options:
, % Nuclear Physics

w Agriculture
- » Astrophysics

4 % Medicine

Question Number : 72 Question Id : 819657439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T UH. U, TaOEET & W0 & Teaeieg & ¥ &g 87 & giaftsa B

Options:

| » AT sitfaehr

z.fﬁ
T W Wﬂﬂﬁ-‘fﬁ
4_&53‘&@

Question Number : 73 Question Id : 819657440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Karl Marx belonged to:
Options:

| Germany

- % Holland



= % France

4 % Britain

Question Number : 73 Question Id : 819657440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Tl ATFH FEl ¥ TEOg 272
Options:

1_;,:—'*‘375'#
> w B
S_QW

4_&5%

Question Number : 74 Question Id : 819657441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following statements is / are correct regarding fats?

1. Fats are needed for the formation of cell membrane

Fats help the body to absorb calcium from food

Fats are required to repair damaged tissue

Body cannot release energy in fats as quickly as the energy in carbohydrates.

!q

den Lad

Select the correct answer using the code given below:

Options:
1 & land 4

» x 1only
3 % 2and4

4 ® 3and4
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From which area did the social and religious reform movement start?

Options:
1 % Bihar

-  DBengal

- % Orissa

4 % Madras
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Question Number : 76 Question Id : 819657443 Question Type: TYPING TEST Display Question Number : Yes
Wornens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the year. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 819657444 Question Type: TYPING TEST Display Question Number : Yes

The Indo Fakistani War of 1947, knowr as the First Kashmir War which was fought between India and
Pakistan owver the princely state of Kashmir and Jarmmu from 1947 to 1948, It was the first of four Indo
Pakistan wars fought between the two newly independent nations. Fakistan precipitated the war a few weelks
after independence by launching tritbal lashlkar frorm Waziristan, in an effort to secure Kashrnir, the future of
which hung in the balance. The inconclusive result of the war still affects the geopolitics of both countries.
This war started after armed tribesrmen from Pakistans north west frontier provinee invaded Kashmir in
Dctober 1947, Besieged both by a revolt in his state and by the invasion, the Maharaja requested armed
assistance from the government of India. In return he acceded to India, handing over powers of defence,
cormrnunication and foreign affairs. Both India and Pakistan agreed that the accession would be confirmed by
a referendurm once hostilities had ceased. Howesver, Historians continue to debate the precise timing when the
Maharaja of Jarmmu and Kashmir signed the instrument of accession and the Indian army moved into the
state, arguing that the Maharaja acceded to India under duress. I May 1945, the regular Faldstani army was
called upon to protect Fakistans borders. Fighting continued throughout the year between Pakistani irregular
troops and the Indian army. The war ended on 1 January 19449 when a ceasefire was arranged by the United
Mations, which recormmended that both India and Pakistan should adhere to their cormumitiment to hold a
referendurr in the state. A ceasefire line was established where the two sides stopped fighting and a UN
peacekeeping force established. The referendurm, however, has never been held. [n 1954 Jarmm and Kashmirs
accession to India was ratified by the states constituent assembly. In 1957, it approved it5 owrl Constitution,
modelled along the Indian constitution. Since that tirme India has regarded that part of the state which it
controls as an integral part of the Indian union. To the west of the ceasefire line, Pakistan controls roughly one
third of the state. & small region, which the Fakistanis call Azad Jarmrnu and Kashmir, and the Indians call
Pakistani occupied Kashrmir, is semi autonomous. The larger area, which includes the former kingdoms of
Hunza and MNagar, called the northern areas, is directly administered by Pakistan. In 1962, following the 1962
Sino Indian war, India and Pakistan held talks under the auspices of Eritain and the US in an attempt to
resclve their differences over Kashmir, but without success. So far territorial disputes over the Kashmir region
sparked two of the three major Indo Pakistani wars in 1947 and 1965, and a limited war in 19949
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